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Factoring Trinomials: x° +bx + ¢ (5.4) Math 098

Let’s observe the patterns:
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Example 1: Factor
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So i@s positive, then the two numbers have % Sonpre. ) = ﬁ\ﬁ@ .

and b determines it.



Example 2: Factor

a) rF+5r-36 Cﬁﬁmq‘ﬁ = - By
- (P (rn-g)  FTaCy) = &

>) ¢ =340 (-2} = -Yo

5408} = -3
= (g ¢5)(q-2)

So if c is negative, then the two numbers have < ?}P ;Pﬁéﬁ RS ';%, I , and
LN
b will determine which sign will be “ b J ?W ” (that is, have more absolute value or

weight}.
?k Important: When factoring always factor out the Gef first.

Example 3: Factor completely
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a) X +3x*-4x = X (X + 3K “q).
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Example 4; Factor completely
a) a’—2ab—48b
= (& +hbkNa-~gb)

b 262 4+32r-72

= 20> 416e ~36)
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Example 5: Solve

a) ¥’ =5x—6=0
2 (x-6)x+1)=o

B X -z *RA X4)z=a

b) (z+4)(z=2)==5
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S 2 L1z - 320

2 ¥X=& 9R X=-1, = (2+3)(2-1) =
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¢) 2x° =26x" —72x (graph (c.) when done
to observe the roots/zeros. Use the

window [—5,5]><[—75,75])

= 72X - Uxd e Flx = O

» 2x (xT - 3x* 4ze) =@

= 2x (x -y\xT-9) =0

2 2% (x40 -DCX+DX-2) = o
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Example 6: Write a polynomial function f{x) in standard form whose zeros are -3, 0, and 4

&m) = 26 (X +3) X —¢g ) 96%‘3 ﬁZx(ﬁx+ﬁXX )

= % (X w12 3
2 . hiry = XLX—U’X:XM?)
= X=X - {2 | |

Example 7: Practice for you (factor or solve as appropriate)

a) x'+5x+6
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